
AT O M S TA C K  A 5  P r o  L a s e r  
E n g r a v e r

I n s t a l l a t i o n  M a n u a l

� English
� Deutsche
� Français
� Italiano
� Español
� Polskie



Part 1： Security statement and warning
Before Using the laser engraving, please read this safety guide carefully, it mentions situations that require special attention and includes 

warnings of unsafe practices that can cause damage to your property or even endanger your personal safety.

1.This product is a laser engraver system components, must be installed in other manufacturers of laser engraver for use.And the product belongs 

to Class 4  laser products, the laser system itself must meet the requirements of IEC 60825-1 latest version, otherwise the product is prohibited 

to be used.

2.Your laser engraver shall have a protective housing which, when in place, prevents human access to laser radiation.

3.If a protective housing is equipped with an access panel which provides "walk-in" access then: 

a)means shall be provided so that any person inside the protective housing can prevent activation of a laser hazard that is equivalent to Class 3B 

or Class 4; 

b）a warning device shall be situated so as to provide adequate warning of emission of laser radiation equivalent to Class 3R in the wavelength 

range below 400 nm and above 700 nm, or of laser radiation equivalent to Class 3B or Class 4 to any person who might be within the protective 

housing; 

c) where “walk-in” access during operation is intended or reasonably foreseeable, emission of laser radiation that is equivalent to Class 3B or 

Class 4 while someone is present inside the protective housing of a Class 1, Class 2, or Class 3R product shall be prevented by engineering means. 

   NOTE Methods to prevent human access to radiation when persons are inside the protective housing can include pressure sensitive floor mats, 

infrared detectors, etc. 

4.The laser itself has a protective cover, the protective cover is fastened by screws. When the laser is installed on the laser engraver, the 

protective cover should be checked to be reliably locked, and can not be removed in the energized state;

5.The housing of the laser engraver should have an interlock function. When the housing is opened or removed, the laser can be automatically 

turned off.

6.The laser engraver should have an emergency stop button, which can immediately stop the output of the laser when pressed under unexpected 

circumstances;

7.The laser engraver should have a reset button, which can resume work under the condition of confirming safety after lifting the interlock or 

emergency stop;

8.Laser engraver should use physical keys, dongle, password system and other ways to manage and control, to prevent personnel without security 

training operation of this kind of equipment;

9.On the laser engraver any window or channel that can actively observe or passively receive the laser radiation should be set up warning marks;

10.If the laser burns the skin or eyes, please go to a nearby hospital for examination and treatment immediately



Part 2: Disclaimer and warning
This product is not a toy and is not suitable for people under 15 years of age. Do not allow children to touch the 
laser Module. Please be careful when operating in scenes with children.

This product is a laser 
module, visit http://www.atomstack3d.com/laserengraverdownload for complete "user manual" and the latest instructio
ns and warnings. Shenzhen AtomStack Technologies Co., Ltd. (Atomstack) reserves the right to update this Disclaime
r and Safe Operation Guidelines.

Please be sure to read this document carefully before using the product to understand your legal rights, responsibi
lities and safety instructions; Otherwise, it may bring property loss, safety accident and hidden danger of persona
l safety. Once you use this product, you shall be deemed to have understood, accepted and accepted all terms and co
ntents of this document. User undertakes to be responsible for his or her actions and all consequences arising ther
efrom. User agrees to use the Product only for legitimate purposes and agrees to the entire terms and contents of t
his document and any relevant policies or guidelines that AtomStack may establish. 

You understand and agree that AtomStack may not be able to provide you with the cause of the damage or accident and 
provide you with AtomStack's after-sale service unless you provide  the original engraving or cutting files, 
engraving software configuration parameters used, operating system information, video of the engraving or cutting 
process, and operational steps prior to the occurrence of a problem or failure.

AtomStack is not liable for any and all losses arising from the user's failure to use the product in accordance wit
h this manual.

Atomstack has the ultimate right to interpret the document, subject to legal compliance. Atomstack reserves the rig
ht to update, modify, or terminate the Terms without prior notice.



Part 3：Installation Steps

Step1.Install the contour of the engraving machine

Step2.Install X axis assembly, control box and support frame

Step3.Install belt and aluminum profile end cap

Step4.Install laser and laser protective cover

Step5.Install the Y-axis limit column and adjust the X and Y-

axis eccentric screws

Step6.Install the cable and fix the cable



Step1

Installation Manual:
1. Find the four large profiles in the picture 
above, place the four profiles as shown, and 
pay attention to the direction of the profiles.

2. Tighten the M5 screw in the shaft, and 
judge whether you have installed it correctly 
through the enlarged view details.

Nota:
a. Place the screws, but do not tighten them.
b. Then tighten the screws diagonally.
c. Tools required, M5 Allen key+M5 screws.

Logo side up

The hole side faces 
outward

Cut side 
outward

X

Y

Tick mark font 
direction

Step1 Required components: 



Step2

Installation Manual:
1.Push the X-axis component into the base 
frame in the direction shown in the figure. Adjust 
the eccentric nut appropriately.
2.Install the control box as shown.
3. Use an M5 Allen key to install 3 Support 
gasket.

Control box *1 M5 screws*8 Support gasket 
*3

X-axis components*1

Step2 Required 
components:

1

1

2

3

3

3
The guide rail passes through 
the middle of the 3 rollers. 
Loosen the distance between 
the upper and lower guide 
wheels appropriately.

Y

X



Step3

Installation Manual:
1. Install two synchronous belts as shown in the figure. 
First tighten one end with a T-nut, then pass the other 
end through the roller on the X-axis assembly as shown 
in the figure, and finally tighten the other end and fix it 
with a T-nut.
2. T-nut fixing method (Push the T-nut from the groove on 
the end of the profile, and then use the screw to tighten 
the T-nut), the T-nut is as close to the end of the profile 
as possible, and cut off the excess belt.
3. Cover the profile end cover (the side of the end cap 
with protrusions is facing down)

TIPS:
The installation of the Y-axis synchronous belt can refer 
to the installed synchronous belt on the X-axis 
assembly.Determine whether the timing belt is tight 
enough: press the position shown in Figure 4 with your 
fingers, and if there is no obvious deformation, it is tight 
enough. If the deformation is large, loosen one end of 
the T-nut and tighten the timing belt, and then tighten the 
T-nut.

1

3

3

3

3

Type T Nut *4 Type T Nut Lock 
       screws*4

2

Profile end cover *4Synchronous belt *2

Step3 Required 
components:

4

Tighten the T nut 
and cut off the 
excess belt.

5



Step4

Installation Manual:
1. Fix the laser head on the slider board 
with M5*8 countersunk head screws. The 
screws must be tightened.
2. Insert the green protective covers on the 
left and right sides.
3. Insert the front green protective cover.
4. Fix the front protective cover with M5*14 
flat round head screws.

2
3

4

1

1

2

3

4

Y

X

Front protective 
cover *1

Protective covers on both sides 
*2

Laser head *1

M5*14 Flat round head 
screw*1

M5*8 Countersunk screw 
*2

Step4 Required components:



Installation Manual:
1. As shown in the figure, fix the Y-axis limit 
column with M3*14 screws on the left slide rail.
2. Adjust the eccentric nut to ensure that the X-
axis and Y-axis move smoothly without shaking.
TIPS：
How to determine the tightness of eccentric nuts?
Under the condition of ensuring that the bracket does 
not shake, you can lift one end of the machine to an 
angle of 45 degrees with the horizontal plane, and 
release the X-axis or Y-axis bracket from a high 
place. If the bracket can slide at a constant speed to 
the end, the tightness is suitable.

Y

X

M3*14Screw*2 Y-axis limit column *2

Step5 Required components:Step5

Use a wrench to turn the eccentric 
nut to adjust the tightness of the 
guide wheel and the guide rail



S t e p 6    I n s t a l l a t i o n  o f  t e r m i n a l  b l o c k s  a n d  c a b l e  
b u n d l e

Installation Manual:
1. Insert the three wire terminals as shown
2. As shown in the figure, tie the machine 
fixing hole and the cable bundle with a cable 
tie to prevent the wire terminal from 
loosening.

1

2



Laser Light can damage the human eyes and skin. Do not expose the eye or skin 
to laser light directly. This Laser product has an optical lens and emits a 
collimated laser beam. The light from this product, both direct and reflected, is 
very harmful as it can propagate a long distance while maintaining high optical 
density. When handling the product, wear appropriate safety glasses (OD5+) to 
protect eyes from laser light including reflected and stray light. The reflected and 
stray light spilling into an unintended area should be attenuated and/or absorbed. 

Part 4：Cautions
LASER BEAM CAN DAMAGE EYES 



Part 5：Maintenance instructions and warning

Th is  p roduc t  uses  a  h igh ly  i n teg ra ted  des ign  and  requ i res  no  main tenance .  Howev er ,  i f  t he  
laser  sy s tem ins ta l l ed  w i th  th i s  p roduc t  needs  to  be  repa i red  o r  t uned ,  p lease :

1 . Unp lug  the  power  co rd  on  the  lase r ,  so  t ha t  t he  laser  is  i n  a  s ta te  o f  power  f a i l u re ;

2 . I f  you  need  lase r  ass is tance  fo r  t un ing ,  p lease :

1 . A l l  p resen t  pe rsonne l  wear  p ro tec t i ve  g lasses ,OD5+ p rotec t ive  g lass  is  needed ;

2 . Make  su re  t here  a re  no  f l ammab le  o r  exp los i ve  ma ter ia l s  a round;

3 . The pos i t i on  and  d i rec t ion  o f  the  lase r  a re  f i xed  to  ensu re  tha t  t he  laser  w i l l  no t  
acc identa l l y  move and  sh ine  on  peop le ,  an ima ls ,  f l ammab le ,  exp los ive  and  o ther  
dangerous  and va luab le  ob jec ts  du r ing  debugg ing .

4 . Don ' t  l ook  a t  l asers

5 . Do  no t  sh ine  the  lase r  on  the  m i r ro r  ob jec t ,  l es t  t he  lase r  r e f l ec t ion  caus e 
acc identa l  i n ju ry .



Customer Service:

Ø For detailed warranty policy,please visit 
our official website at: 
www.atomstack3d.com

Ø For Laser Engraver technical support 
and service,please email: 
support@atomstack3d.com

Manufacturer: Shenzhen AtomStack Technologies Co., Ltd.
Address:  AB301,New Chabridge Industrial Park,No.3,Baolong 6th 
Rd.,Longgang Dist,Shenzhen,Guangdong,CHINA  518116

View the multilingual 
instructions here:

Scanner APP:
 QR Code Reader
/Barcode Scanner
or any APP with 
scanner 


